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4. Will this idea ¢ -tive field and spur follow-up

( projects for other saen’rls’rs?




YES AND NO!

Successlll
e
e up while doing

resec Successlli!!

. The researcher gets f : 2 project, fails to answer the question
nothing else comes from the project: Failurellll



® Human Genome Project 1991-2003 Budget 1 billion dollars

chromatic”

regions,

- Outcome: Unc . Identify Mutations linking to Cancer,

Design Medication, Genomics Research.
Y Video: https: / /www.youtube.com/watch2v=PwdDab6QCDWw



® Large Hadron Collider Budget 7.5 billion euros

les.
ed problems

of the fie

Outcome: understanc olack holes, identifying exotic particles.

A Virtual tour of the Hadron Accelerator:
/; http:/ /virtual-tours.web.cern.ch /virtual-tours /vtours /LHC /LHC.html



https://en.wikipedia.org/wiki/Collider

® The Manhattan Project appr. 2 billion dollars

on and

implo
Outcomes: Trinity Test, Hir Nagasaki, the world as we know it

changed!

Video of the Trinity Test: https: / /www.youtube.com /watchev=7dfK9G7UDok



https://www.youtube.com/watch?v=7dfK9G7UDok

® The Apollo Program 1960 -1973 Budget 25.3 billion dollars

d Lunar Module

® Video of moon landing:
Y https://www.youtube.com /watch?2v=PrSD8tpoSz0



® War on Cancer - since 1971 100 billion + USD.

prevention.

* Why is jle disease hence it doesn’t

have a single cure!

(f https: / /www.youtube.com /watch2v=SGaQOWwZ_OI
@




® The NASA DART project (failed computer calculation resulted in crashing) = 25
million USD, 2006.

5 let to a soft collision with

the satellite.

®* Why did it fail? Inaccurate position and velocity information i.e. incorrect

calculations.




® The Mars Climate Orbiter — 327.6 million

ose to the planet,

causing ate.

T

Computer So d on Sl units (Imperial Units) whereas
NASA uses Sl units!

%

https: / /www.youtube.com /watch2v=q2L5_swAT5A







